
Plane Geometry 
Coaxial system of  Circles

Find the Redical axis and limiting
points of the lo-ancial system
determined by

x
2

+y2 + 2x - by = 0

Gu2
+ xy2-10y + 5 = 0

Proof n +y + 2n - Gy = 0 -D-

qu?Y - 10 y + e



n + y - jy + 52 = 0 - ②

Subtract ② fromD
/a +y+ 2x - by - xY-yx+ 5y - 52 = 0

2x -y - x2
= 0

4x - 2y- 5 = 0

which is Radical axis.

The enuation of Circle Co-axial with
Circle I



(2 + y + 2x - by) + x(4x -

xy -5) =

0

x2 +y + 2x - by + 4xx - 2xy - 5x=

0

x2 + y + (2 + 4x)x + ) - 6 - 2x)y -5x= 0

Compare it with
22+ y2 = 29n + xfy + x = 0

g =

(4x =

2x + 1



f = - -2x =

- (3 + x)

C
=

- 5X .

Centre of Circle (-9 , -7)

(- (2x+ 1)
,
3 + x)

Radius of Circle

is,



for limiting Point Radius = -

((((- (3 + x)2+5x = 0

4x + 1 + 4x + 9+x+ 6x +5x = 0

5x2 + 15 x + 10 = 0

1 + 3x +2 = 0

x + 2x + x + 2 = 0

x(x + 2) +1( +2) wo



(x +1)(x + 2) = 0

X = - 1
,

- 2

---

Cente . (-(2x +1) ,
(3 + x)

for 1=- 1

Centre=(1 , 2) limiting
Points

for X =- 2 (1
, 2) (3 ,

1)

Centre = (3 , 1)


